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CBSE MATHEMATICS SAMPLE PAPER
SA Il CLASS-X

Multiple Choice type (1 mark) questions
1. fgeaTd THEHROT 2x2-kx+k =0, ® el M 2 | k BT A9 &
(A)  @AA0 B) 4 (C) Dads D) 0,8
Values of k for which the quadratic equation 2x2-kx+k = 0 has equal roots is:
(A)  Oonly (B) 4 (C)  8only (D) 0,8
2. T 5V DI 301 Tl 9d & [dwg P IR US R X&@T Wil g S {6 b= ¥ Al Ty
¥l Bl Q R Ffdesfd wxefl &1 0Q = 12cm o PQ ®1 TS &
(A)  12cm (B) 13cm (©)  8.5cm (D) 119cm
A tangent PQ at a point of P of a circle of radius 5cm meets a line through the center O at a
point Q, such that OQ = 12cm. Length of PQ is:
(A)  12cm (B) 13cm (©)  8.5cm (D) 119cm
3. 19 52 0P AT & PBlel § A Udh Ple ARG foldl AT | HTs WR Tdb YUl o §&AT &
A B AR &
1 2 7 10
GV B 5 © 5 D) 5
A card is drawn from a deck of cardssumbered 1 to 52. The probability that the number on
the card is a perfect square is:
1 2 7 10
A 5 B 3 © 3 O =
4. fa=g P2, 3) BT x- 3T A I &
(A)  2ZFT (B, 3%FTR © 1zFw (D)  5¥FT
The distance of the point P(2, 3) from the x-axis is:
(A)  2units (B) 3units (©)  lunit (D)  bSunits
5. 6cm Y. & N1 & 3T gd BT &FAhA B
(A) ©.36m cm? (B) 18m cm? O 12mrcm? (D)  9mrcm?
The area of the circle that can be inscribed in a square of side 6cm is:
(A).. 36mcm? (B) 18m cm? O 12mrcm? (D)  9mrcm?
Short Answer-I type (2 mark) questions
1 fEeTd FHIBROT 3x2- 4y/3x+4 = 0 Hall BT Ui AT BIOIY |
Find the nature of the roots of the quadratic equation:
3x2- 4V/3x+4 =0
2 k @ <1 A1 & feTq 2k, k+10 TH 3k+2 AR oM § 87
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For what value of k are 2k, k+10 and 3k+2 in AP?

3 Rig DI & 90 & & & BR f9gall W diEl T3 WL X@Y FH=R 8l © |

Prove that tangents drawn at the ends of a diameter of a circle are parallel.

4 Rig INY fd U 9d & IR FARR agysl A9adYsl © |

Prove that the parallelogram circumscribing a circle is a rhombus.

5 ToRelT TX0T 132 3120 U1 & AT 12 ©RIG U9 e U Fae @& 98 Al aardT ST gad]
g T #2 U9 wa g AT =T | THE O U U AIgesdl | Idrell AT giiiedr Sid
HITY f5 Fprer a1 99 st U9 7

12 defective pens are accidently mixed with 132 good ones. It is not possible to;just look at a
pen and tell whether or not it is defective. One pen is taken out at random from this lot.
Determine the probability that the pen taken out is a good one.

Short Answer-II type (3 mark) questions

1 = fgarh afery & g oraEve Ay 9 s s

V2x2- 7x+5v2 = 0
Find the roots of the following quadratic equation byfactorization:
V2x2- 7x+5v2 = 0

2 T AR il § G2 UG 5, A9 3R 3 YT ndl UG 50 © | 39 FHIR 01 H n &7 A
TAT Y2H n UG BT ART AT HIFOTT |

In an A.P,, first term is 5, common difference is 3 and nth term is 50. Find the value of n and
sum of its first n terms.

3 TP SHaR o UTd H gedi & fo &l hAe arell {had Ugl oAl 2 | 599 ¥ & AR &
ol & forg fhde 72l & R @1 $aE 1.59eR a1 ST TISUS & 1T gHIF 300 Bl
21 9 da @ forg fdem arer it e ug! s 8 ek 3 3dier a9 aste &
A1 FHT 60° BT 2 UUH e H A Uel &1 o8 od DI |

A contractor plans to install two slides for the children to play in a park. For the children
below the age of Syears, she prefers to have a slide whose top is at a height of 1.5m, and is
inclined at an angle of 30° to the ground, whereas for elder children, she wants to have a
steep slide at a height of 3m and inclined at an angle of 60° to the ground. What should be
the length of the slide in each case?

4 12.cm 501 @l g9 H TP SiaT % W 120° BT DI I © | 59 JAQTS Bl B
ST DITT | (7 =3.14 TAT /3 = 1.73 BT YA DI)

A chord of a circle of radius 12cm subtends an angle of 1200 at the centre. Find the area of the
segment of the circle. (Use = 3.14 and v/3 = 1.73)

5 TH FHE BN IR 3m. DI S db Ja-HR I SEH HW AYFEGR B | AT IR B
AT 105m dAT IFTHR AT & RS a8 53m & df 39 o< &I 999 § YT § TS
TS DI BT &ABT ST BITTT |

A circus tent is cylindrical upto a height of 3m and conical above it. If the diameter of the



Ankit
JAIPUR EDUCATION PLUS


k, JAIPUR EDUCATION PLUS]

base is 105m and the slant height of the conical part is 53m, find the area of canvas used in
making the tent.

Long Answer-I type (4 mark) questions

1 T e BT 3P &% A 2 BA T | Al 3 TAT & QM H 1 SRl 9I¢ Al =g A qem qd
oy T AT = % A1 AT e T IR |
The numerator of a fraction is 2 less than the denominator. If 1 is added to both numerator

. . L. 19 .. :
and denominator, the sum of the new and original fraction is = Find the original fraction.

2 UH AHR AU b USH n UGT BT AN S, =3n2 - 4n ¥ | AHR AU TALFIDI 1247 U
SITd DI |
The sum of the first n terms of an AP is given by S, = 3n2 - 4n. Determine the AP and the 12th
term.

3 T gd & NI TS DI THE YollS gd b ds U GYRD DIV FART BT & | {ig
BIFTY |

Prove that opposite sides of a quadrilateral circumscribing a circle subtend supplementary
angles at the centre of the circle.

4 1.2 m =T dsd! U T@R Bl g1 & G &fcral fIem H 882 m @l Hdrg WR Il
TG B | AR BT ASH! D G TR ITIT B0 60° BT B | HH AHI YA AT DIT

TewT 30° BT ATAT & Q@MEH <) | 39 @+ Jar gRT fha g aa &1 187

6

88.2m

3150'14 _____________
T8 | 1)

A 1.2 m tall girl spots a balloon moving with the wind in a horizontal line at a height of
88.2m from the ground. The angle of elevation of the balloon from the eyes of the girl at any
instant is 600. After some time, the angle of elevation reduces to 30° (see figure). Find the
distance travelled by the balloon during the interval.

5 6 cm AT BT Udb Il UHT dTel dolThR H STell TAT| 39 dd9 &l AN 12 cm & | IS
ST R TR | Ul H GaT SIY A A1 HITSTY b a¥il &1 WR a1 9¢ SIReT?

A sphere of diameter 6cm is dropped into a cylindrical vessel partly filled with water. The
diameter of the vessel is 12cm. If the sphere is completely submerged, how much will the
surface of water be raised?
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